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Question Number : 1 Question Id : 91394329362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which among the following is a cognitive characteristic of learner ?
Options:

Sensory perception
913943115201, g



Belief
913943115202,

Academic self-concept
913943115203,

Level of visual literacy
913943115204, -

Question Number : 1 Question Id : 91394329362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

Q1=294=2115201. 5 Eﬁ%'l
913943115202, i |= “ El
3R Ty

913345115203
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9133942115204

Question Number : 2 Question Id : 91394329363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As a teacher you wish to predict the capacity and potential success in your subject. Your
main purpose is to predict, or to identify individuals who have greatest potential for
development along special lines or who are likely to profit most by special training. Which
test you would apply to accomplish that ?

Options:

Aptitude test
913943115205,

Intelligence test
913943115206,

Personality test
913943115207 ‘

Prognostic test
913943115208,

Question Number : 2 Question Id : 91394329363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

2123942115205, Eq-ﬁ:r‘ ‘qﬁw

g Tier

913345115206,

Sfadcd TLI&T0T

913342115207,

2123942115208, 1

Question Number : 3 Question Id : 91394329364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Jean Piaget, there are stages of cognitive development.
Options:
2
913943115209,
4
913943115210,
6
913943115211,

913345115212, 8

Question Number : 3 Question Id : 91394329364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

2123942115209 2

4

913343115210,

6

912345115211,

913345115212, 8



Question Number : 4 Question Id : 91394329365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
John Dewey explained school as a/an institution, and education as a
process.

Options:

Social, philosophical
913943115213,

a13943115014 0cial, social

Economical, philosophical
913943115215,

Environmental, psychological
913943115216, g

Question Number : 4 Question Id : 91394329365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

I IS NIBED

913845115213,

913943115214 91, HIHIISIh

1Y, qRIfHE

913345115215,

TSRO, HATAAT T

913345115216,

Question Number : 5 Question Id : 91394329366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following proposed theory of Multiple Intelligencies ?
Options:

e :
a1za4z11501 Olgmund Freud

T iy
13943115015 Hloward Gardner

a1za43115010  Lrbert Einstein



C Nao
913943115000, 1€an laget

Question Number : 5 Question Id : 91394329366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

913343115217, |

HEIERIERE

2913942115218,

9133431152149 .I li EEEI l

8913845115220,

Question Number : 6 Question Id : 91394329367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Empirical research in social sciences is associated with :
Options:

9139432115221, Fictional narratives

Positivist phi[nsnp[w
913943115222, A

1394311500z [1iStorical artifacts

Religious practices
913943115224,

Question Number : 6 Question Id : 91394329367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
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913345115221,

913943115022 SN RIHT X1
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Question Number : 7 Question Id : 91394329368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reasoning from a specific case to a general conclusion is known as :
Options:
1394311500 Ocientific logic

Inductive logic
913943115226,

Deductive logic
913943115227,

Theoretical logic
913943115228,

Question Number : 7 Question Id : 91394329368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

= — r
2123942115225, Al d<h

r
913943115006 SINTHAICHSh doh
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913345115227
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Question Number : 8 Question Id : 91394329369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of review of literature includes :
a) To understand the subject background
b) To formulate research questions

c) To find out relevant methodology

(

(

(d) To debate the ethical aspects of research
(e) To carry out meta analysis of bibliography

f)  To identify the data sources

Options:

913943115229, (a), (b), (c) and (d)

913343115220 (b)F (E)F (d) and (E)

912345115221, (El), (b), (C) and (E)

913943115232, (€), (d), (e) and (f)

Question Number : 8 Question Id : 91394329369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

913943115224, (a), (b), () 3R (d)

(b), (), (d) 3R (e)

913342115230



9129423115221, (El), (b)’ (L) a:ﬁT (f}
(©), (d), (e) 3 (£)

9123345115232,

Question Number : 9 Question Id : 91394329370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If you are to calculate Spearman’s rho, what kind of data you would enter ?

Options:
913943115053 Actual scores

913943115034 Ranks

10 " 1’ ] l. - -
150431 1205c  Dichotomous data

1’ = - - -
150431 15056, Nominal data

Question Number : 9 Question Id : 91394329370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 10 Question Id : 91394329371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A variable that measures the effect of a manipulated variable, is known as :
Options:

913943115237 Independent variable



a1394311503z Dependent variable

913943115239 Confounding variable

913943115540, Controlled variable

Question Number : 10 Question Id : 91394329371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

913345115237, |

913345115235, Aad

fafyga =

9133421152349
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Question Shuffling Allowed : Yes

Question Id : 91394329372 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension



Read the following passage carefully and answer questions from 11 to 15.

It has to be noted that, although certain overall results had been obtained in the matter of
economic growth in the developing countries regarded as a group, little progress had been made
towards the establishment of the new international economic order within the
framework of negotiations among nations for the purpose of applying the principles adopted in
1974 by the United Nations General Assembly. The situation appeared to be marked by a slowing
down at world level in the effort to find a solution to most of the major problems, due to certain
inability to control the evolution of societies and economies, and a fairly widespread feeling of
uncertainty as to the future. The changes which have occurred between 1978 and 1980 have only
magnified the difficulties, so that today there is much talk of a deterioration in the international
situation. This is immediately apparent in regard to inequalities between human beings, whether
considered as individuals or groups or nations. Overall economic disparities have not been
attenuated. In many countries, per capita gross national product remains less than $ 300, while in
others it is situated at levels ten, twenty or even thirty times higher than this amount. In some rich
countries, the average income is a hundred times higher than in the poorest countries. Particularly
drastic is the state of penury, destitution and, all too often, homelessness of those populations that
may be regarded as history’s most recent rejects: the disinherited masses of the poorest countries.
In these countries, whose economic situation is particularly critical, the problems of hunger, disease
and ignorance experienced by a large part of the population seem to all but paralyse efforts made
to cope with them.

Sub questions

Question Number : 11 Question Id : 91394329373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What was the purpose of principles adopted by the United Nations General Assembly ?

Options:
Considering developing countries as a group
913943115241,
staining results | c0 ic growth o ping countries
13045115040 O DMAINING results in the economic growth of developing countries
ok iy e o - . - 2
a1za43115043  LStablishing a new international economic order
2 1 FH ¥ 1 1 . = :
O — Permitting negotiations among nations

Question Number : 12 Question Id : 91394329374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the consequence due to the little progress made by nations during negotiations ?
Options:

a13943115245  Lvolution of societies

915943115546, Control of economies



913943115047 UN intervention

913943115248, Uncertain future

Question Number : 13 Question Id : 91394329375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is apparent due to the changes occurred between 1978 and 1980 ?
Options:

3] - : ,
913943115049 L 1aN adjustment

support of rich co
15043115050, UPPOrt of rich countries

Reduction in poverty
913943115251 /

- = T -) T —., = TL-.
1504311505, NNEQUality between human beings

Question Number : 14 Question Id : 91394329376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
How economic disparities are reflected ?
Options:

- $ 300 per capita GNP as benchmark

Collectivising individuals into groups or nations
913943115254, ;

Higher average income for poor countries
913943115255. ?

o1504a1150ss, LAVeTage income of some countries is a hundred times higher than in the poor countries

Question Number : 15 Question Id : 91394329377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Whom do you call as history’s recent rejects ?
Options:

3 l.l-. " % L "
a13045115057, 1 1omeless population



lonorant population
91394311505, ororant popiile

1 i po 10
o13943115050, -a8€ part of population

159431 15260, Rich countries

Question Id : 91394329372 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 91394329373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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913345115244,

Question Number : 12 Question Id : 91394329374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

AT oh1 shideh fahTH

913345115245,

AT hT TF07

913345115246,

TR T 1 T&

913345115247,

AfT=a 9fasy

9133451152485,

Question Number : 13 Question Id : 91394329375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

AT GUETSH

2913942115249

ST <90 1 gHYUH

9123345115250,

Tt H T

2123942115251,

TSl o S = STHHEM

913345115252,

Question Number : 14 Question Id : 91394329376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 15 Question Id : 91394329377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

[l L .

913943115057 AIH Toel AT
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913343115259 | ' aﬂa@ %

STHR <9
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Sub-Section Number: 3
Sub-Section | d: 9139431590
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394329378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In classroom communication, analogies are considered :

Options:
Supporting evidence

913943115261, 2 &

915945115265 Unwanted information

913943115263, Control devices

913943115064, Attention-breakers

Question Number : 16 Question Id : 91394329378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

913345115261, 3 i h HieA

SEIEERER]
2123942115262,

T u )
913943115263, |1 SAPN

9123345115264,

Question Number : 17 Question Id : 91394329379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Assertion (A) : Empathy is essential for effective communication between the communicator
and the communicatee.

Reason (R) : Empathy links the teacher and students.
Code :
Options:

913943115265, Both (A) and (R) are true

Both (A) and (R) are true, but (R) is not the correct explanation of (A)
9139431152686,

13943115067 (A) 18 true, but (R) is false

913943115965 (A) is false, but (R) is true

Question Number : 17 Question Id : 91394329379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ATURIT (A) :  HYTF 3R FUH F o= g9t Sy9 F o guEyfa siteEd 2
T (R) : TuYfa e 3R 813 & &9 *1 Fl ¢ |

ohe

Options:

(A) 3R (R) THI T ¢ |
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913343115266,
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913345115267,
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Question Number : 18 Question Id : 91394329380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Computer - assisted language learning is called :
Options:
Aided learning
913943115269, s O

-T 3 o e o
913943115270, Communicative call

913943115071, anguage logic

Electronic mediation
913943115272,

Question Number : 18 Question Id : 91394329380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

= — 4
913943115269, 3 0 <l Epes
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913345115270
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913345115272

Question Number : 19 Question Id : 91394329381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The word "haptics” denotes :

Options:



Spatial communication
913943115273,

913943115274 [imely communication

4 -~ [1 E_T _..,! = iy lae .,’
913943115975 Staggered communication

Tactile communication
913943115276,

Question Number : 19 Question Id : 91394329381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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913345115273
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IESNEIREPLL

913345115276

Question Number : 20 Question Id : 91394329382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Social media platforms have created a :

Options:

>ociety o actio T opInions
sy Society of reactionary opinions

=, }.." T -‘ - 1 I.-| - -} I.'|
1504311507 O0OCIELY Of consumables

Society of negativity
9139431152749 t} o~ t}

Society of networking
913943115280, ?

Question Number : 20 Question Id : 91394329382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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913943115277, yidierareHsh 3I9Hd k1 HHTS
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913345115278

JhTcHh HHTS
913943115279,

JEATehT 5= THTS

913345115280

Question Number : 21 Question Id : 91394329383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If DICE is coded as FLGJ, then the code for BITE will be :

Options:

)
913943115281, )

913345115282, DKYH

913345115283, DKVY

2123942115284, DICL

Question Number : 21 Question Id : 91394329383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ffe DICE %1 %< FLG] € a1 BITE 1 %< 21 :
Options:

)
913943115281, )

9123345115282, DKYH

913345115283, DKVY

9133451152584, DICL



Question Number : 22 Question Id : 91394329384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The next term in the series 7, 11, 19, 35, 67, is.

Options:

121
913943115285,

—
32
2

913345115286,

12

r_..,J
—

913345115287,

C
913345115285, 99

Question Number : 22 Question Id : 91394329384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
29 @ H 3 92 ¥ 1 7, 11, 19, 35, 67, |

Options:

121
913943115285,

—
2
-+

912345115286,

12

r_..,J
—

913345115287,

U
913845115285, 99

Question Number : 23 Question Id : 91394329385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term in the letter series KB, JH, IM, HQ, GT, is.
Options:
913943115289, LY

My
913845115230, FV

913845115251, FU

913345115232, EU



Question Number : 23 Question Id : 91394329385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frfafaa auigss § 37el 92 ® - KB, JH, IM, HQ, GT, 1

Options:

EY

9133431152849

Iy
913345115230, FV

913845115251, FU

9123345115232, EU

Question Number : 24 Question Id : 91394329386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Choose the word which is different from the rest ?
Options:

¥,
g13943115293.l apcl

913943115294 VVOOL

W | [P Ry
913943115005, Llastic

lute
913943115296, -

Question Number : 24 Question Id : 91394329386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fre=fefad § 9 99 vss giHe
Options:

913343115293, z

9133451152594,

913345115235,

913345115256, E



Question Number : 25 Question Id : 91394329387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pointing to a man, Abhijit said “His grand daughter is the only daughter of my brother”.
How is the man related to Abhijit ?

Options:

413943115297, Father

1304311500z Orandfather

913943115099, UNClE

Brother-in-law
913942115300,

Question Number : 25 Question Id : 91394329387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

913345115257,

e

9133451152395,

9133451152599 Tl

913943115300 E‘:[
Sub-Section Number: 4
Sub-Section 1d: 9139431591
Question Shuffling Allowed : Yes

Question Id : 91394329388 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



Items of Expenditure (¥ in crores)
Year Salary [ Fueletc | Bonus |Interest on Loans| Taxes
2008 57.6 19.6 0.6 4.68 16.6
2009 68.4 22.4 0.5 6.50 21.6
2010 64.8 20.2 0.76 8.32 14.8
2011 67.2 26.6 0.74 7.28 17.6
2012 84.0 28.4 0.80 9.88 19.6

The above table shows details of expenditure incurred by a tea garden during the years 2008
to 2012. Note that all expenditure reported is in crores.

Answer the following questions based on the data given in the above table.

Sub questions

Question Number : 26 Question Id : 91394329389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The average yearly expenditure on “Interest on Loans” during the period 2008-2012 was
approximately.

Options:

. Lo I y
o13943115301. 18- 6.33 crores

913943115302 RS. 6.88 crores

Rs. 8.32 crores
913943115303,

4 7 - .
913943115304 Rs. 7.33 crores

Question Number : 27 Question Id : 91394329390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Bonus as a percentage (%) of salary was highest in the year ?

Options:

912345115305, 2008

9123345115306, 2009

913845115307, 2010

M1
912345115305, 2011



Question Number : 28 Question Id : 91394329391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which year, was the total expenditure (over the five heads of expenditure listed in the
table above) the least ?

Options:

2008
913943115309,

2913942115310 2009

913342115211, 2010

2011
913943115312,

Question Number : 29 Question Id : 91394329392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which vyears, the percentage (%) growth of expenditure on salary (as compared to the
previous year), was more than 10% ?

Options:

1304311531z 2009 and 2010

a150431 12314 2010 and 2012

o13943115515 2011 and 2012

s13943115316, 2007 and 2012

Question Number : 30 Question Id : 91394329393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which year, the expenditure of taxes and “Interest on loans’, was less than the expenditure
on fuel etc. ?

Options:

912345115217, 2009

2010
913943115318,

M1 -
9123451153149 2011



2012
913943115320,

Question Id : 91394329388 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension
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EL| I |TEF TANG| SFE |HOI W S| W
2008 57.6 19.6 0.6 4.68 16.6
2009 68.4 22.4 0.5 6.50 21.6
2010 64.8 20.2 0.76 8.32 14.8
2011 67.2 26.6 0.74 7.28 17.6
2012 | 84.0 28.4 0.80 9.88 19.6
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Sub questions

Question Number : 26 Question Id : 91394329389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T4 2008 - 2012 FT 7Y F SRE BN W =N W SAET At a7 o |
Options:
9T 6.33 HUS T

913845115301,

T 6.88 FUS T

913345115302,

YT 8.32 FS T

912345115303,

T 7.33 HAS T

913342115204,

Question Number : 27 Question Id : 91394329390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

913345115305, 2008



913343115306, 2009

913342115307, 2010

M1
9138451153085, 2011

Question Number : 28 Question Id : 91394329391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingIeLine Queﬂion Option : No Option Orientation : Vertical

maﬂﬁwm(wmﬁqﬁmmﬁmﬁsﬂﬁﬁ)mwm?

Options:

2008
913943115309,

912345115310, 2009

2913942115311, 2010

2011
913943115312,

Question Number : 29 Question Id : 91394329392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

913943115313, 2009 #R 2010

913943115314 2010 3R 2012

2011 3T 2012

9133451153515

913943115316, 2009 3R 2012

Question Number : 30 Question Id : 91394329393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:




2009

913942115317,
2010
2912942115218
211
913942115319 2011
2012
2123942115320,
Sub-Section Number : 5
Sub-Section I1d: 9139431592
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 91394329394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Two propositions are contradictory when,
Options:

1304511550, | TUth Of one proposition implies falsity of the other and vice versa.

T of 0 roposition supposes t alsity o ) ' 1C
1304511530, 1 TULH Of one proposition supposes the falsity of the other and vice versa

o15o4s115505 1 TULh Of one proposition doesn’t guarantee the falsity of the other.

Truth of one proposition rejects the falsity of the other and vice versa.
913943115324, J

Question Number : 31 Question Id : 91394329394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

s WAl o1 9 GHL 1 THEAA! adral ¢ 3iR faama: U5 2ar 2 |

2913942115321,

sk HI=IA1 1 T $HY 1 fHeAar 1 goe <1 ® iR facima: W@ 2 €|

913942115322,

U q1d1 o1 T T 1 faeddl =61 TR 27 <l |

913345115525,
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913945115324



Question Number : 32 Question Id : 91394329395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Among the following identify two statements which are in such a relation that the truth of
one implies the truth of the other, but not conversely.

Statements :

(a) All plastics are synthetic.

(b) Some plastics are synthetic.

(c) Some plastics are not synthetic.
(d) No plastics are synthetic.

Code :

Options:

(a) and (b)

913345115325,

(a) and (c)

913345115326,

(a) and (d)

913345115327,

(b) and (d)

913345115325,

Question Number : 32 Question Id : 91394329395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(a) ¥R (b)

913845115325,

(a) 3R (c)

2123942115326,



(a) 3R (d)

913345115327,

(b) 3T (d)

913845115325,

Question Number : 33 Question Id : 91394329396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the argument which involves a leap from the known to the unknown.
Options:

Deductive areument
913943115329, =t -

Reductive argument
913943115330,

Inductive ar gument
913943115331,

Analogical argument
913943115332,

Question Number : 33 Question Id : 91394329396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

[ ¢

EUEEIRCIGET

9123345115329

913342115330 ST g

913943115331 ANTHAICHS h

913845115332, ;

Question Number : 34 Question Id : 91394329397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises (A and B). Four conclusions are drawn from them. Select the
code that states validly drawn Conclusion(s) (taking the premises individually or jointly).
Premises :

(A) No non-literates are graduates.

(B) All non-graduates are non-teachers.
Conclusions :

(a) All teachers are non-literates.

(b) All teachers are graduates.

(c)  All non-teachers are non-graduates.
(d) No non-literate is a teacher.

Code :

Options:

(a) and (b)

913345115533,

(b), (c) and (d)

912345115534,

(c) and (d)

913345115335,

(b) and (d)

913345115536,

Question Number : 34 Question Id : 91394329397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

(a) ¥R (b)

2913942115335



(b), (c) R (d)

912345115534,

(c) 3 (d)

912345115535,

(b) 3T (d)

912345115536,

Question Number : 35 Question Id : 91394329398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The argument which claims that its conclusion is supported by its premises conclusively is :
Options:

- E'_T.‘ — - o
1304311533, Ainalogical argument

“h aAro
913943115538, Inductive argument

Demonstrative argument
913943115339,

Deductive argument
913943115340,

Question Number : 35 Question Id : 91394329398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

913943115337, AL

4153943115335 SHHAICHS b

- JATHS d

913345115335

913943115340, |1 IICHen d<h

Question Number : 36 Question Id : 91394329399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the binary equivalent of the decimal number 53 is 110101, then the binary equivalent of the
decimal number 50 is given by :

Options:



a13943115341. 110011

913943115342 110010

913342115243, 110001

912345115544, 110100

Question Number : 36 Question Id : 91394329399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
afe M &A1 53 F1 ITH FUqed (IR IfEEacie) 110101 € A S9HAS H@N 50 F1 I
AT B :

Options:

2912942115241, 110011

913345115242, 110010

212942115342 110001

913345115544, 110100

Question Number : 37 Question Id : 91394329400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is not part of suite of products of Microsoft Office ?
Options:

9139432115345 Microsoft Excel

LTS . 3 ’ s A
913943115346, Microsoft PowerPoint

913943115347 Microsoft Publisher

013943115345 Microsoft Windows

Question Number : 37 Question Id : 91394329400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

S -
913943115345, RSN Kol

913943115346, xR INlHe QlAilze

913345115547, |5: T =Rl
913345115345, |5 |

Question Number : 38 Question Id : 91394329401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
The Internet began with the development of :
Options:
2913942115349 USENEIL

913943115350, LXtranet

- ARPANET

9133942115551

913943115352, Intranet

Question Number : 38 Question Id : 91394329401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

912345115549 [\
912345115350, o

212942115351,

2913942115352

Question Number : 39 Question Id : 91394329402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



RFID 1s an acronym for :
Options:

Roaming Frequency Identification
913943115353, ’

13943115354 Radio Frequency ldentification

Runtime Frequency Identification
913943115355, /

)| ) 7 itficabio
159431153z Remote Frequency Identification

Question Number : 39 Question Id : 91394329402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AR UF. L. 1. fFue y=-Hay €72

Options:

913345115553, | | ” : :

913345115554, I T |; hd
9133451153555,

913345115556, I

Question Number : 40 Question Id : 91394329403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Bluetooth is an example of :

Options:

p)
913345115357, PAN

9123345115355, LAN

4913945115359 MAN

913845115360, WAN

Question Number : 40 Question Id : 91394329403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
2Y TohEhT e © 2

Options:

913345115357, 'Eﬁ"Q.'QF[

L AL B

2913942115358,

913345115359 @q-@

CED R

212942115380

Question Number : 41 Question Id : 91394329404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Recently in Brazil, a bacterium showed the antibiotic resistance, which was not reported
previously :

Options:

Pseudomonas species
913943115361,

Salmonella species
913943115362,

8 v - 1) —n -
a130431153¢z [lebsiella species

Streptococcus species
913943115364,

Question Number : 41 Question Id : 91394329404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

913943115361, A2 I SIS

9123451153562,

9133451153563,

913345115364, &



Question Number : 42 Question Id : 91394329405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
. as a positi an 1 Ceq 1rC :
One of the following has a positive human influence on the environment
Options:
o139431153¢s  Leforestation

Over pop ulation
913943115368,

2 *
s13943115367. L olution

913943115365 —conservation

Question Number : 42 Question Id : 91394329405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91 1 Hels
912942115265, $
Q12942115266

2913942115367, ?\

+

L&

2129421153688,

Question Number : 43 Question Id : 91394329406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : The environmental impact of soil erosion can best be mitigated by removing
vegetative cover only from the specific site on which construction is to take

place.

Reason (R) : The environmental impact of soil erosion can also be mitigated by disturbing
the vegetation in adjacent areas as little as possible.

Code :

Options:

13943115369 DOth (A) and (R) are true and (R) is the correct explanation of (A)



Both (A) and (R) are true but (R) is not the correct explanation of (A)

913942115270,
913943115371, (A) Is true, but (R) is false
13043115375 (A) 1S false, but (R) is true

Question Number : 43 Question Id : 91394329406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(A) 3R (R) S H&l ¥, 3 (R) (A) &1 Hel &A1 ¢ |

913345115569

(A) 3R (R) ST T&l €, T4 (R) (A) T T =318 761 ¢ |

913345115370,

(A) H@l &, TR (R) TTeTd B

9133245115371

(A) e €, TR (R) WET

913945115372

Question Number : 44 Question Id : 91394329407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Hydropower is an exhaustible energy resource.

Reason (R) : The power of falling water would neither diminish nor get exhausted.
Code :
Options:
o130431155,5 DOt (A) and (R) are true and (R) is the correct explanation of (A)

13043115374 DOth (A) and (R) are true but (R) is not, the correct explanation of (A)

(A) is true, but (R) is false

2123942115375,

Both (A) and (R) are false

2123942115376,



Question Number : 44 Question Id : 91394329407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ATHHIT (A) :  STATTHA Sl ol AT B dTe TE1EE T |
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che :

Options:

(A) 3R (R) S 9&l € 3R (R), (A) &1 Hel =& € |

2123942115373,

(A) ST (R) < W E foheg (R), (A) T e =AmE T ¥

913945115374

_(A)ﬂ'ﬁ%,m(mw%l

2915942115575

(A) 3R (R) SHI TeAd € |

913345115576,

Question Number : 45 Question Id : 91394329408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the scheme of life, soil is an essential resource of life, as it plays the following roles.

(a) Itis a reservoir of carbon.

(b) It is the medium for growth of food and energy for the animal world.
(c) It provides oxygen to the biotic community.

(d) Itis a natural reservoir for the huge amount of water

Select the correct answer from the above :

Options:

(a), (b) and (c)

913345115577,

(a), (b) and (d)

913845115375,

(b), (c) and (d)

9133451153749

(a), (c) and (d)

212942115380

Question Number : 45 Question Id : 91394329408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a), (b) 3R (c)

913845115377,

(a), (b) 3R (d)

913345115375,

(b), (c) R (d)

9133431153749

c) 3 (d)

913942115380, (ﬂ)’ (

Question Number : 46 Question Id : 91394329409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In terms of year of establishment, which open university is the youngest among the following
(established most recently) :

Options:
d 1-’ = = - 11 :r - 1" -
SRS I'amil Nadu Open University, Tamil Nadu

Odisha State Open University, Odisha
913943115382, :

--I--| - 2 s i - —] = I--|- T I--|.--|
1504311535z rishna Kanta Handique State Open University, Assam

Pt. Sunderlal Sharma Open University, Chattiscarh
913943115384, - € F ty, Challisge

Question Number : 46 Question Id : 91394329409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:




-

dfHeTg Hod favafasned, dHarg

912345115381,

~ 3fifewm T g favafammea, saufewm

2912942115382

913345115383

913345115284

Question Number : 47 Question Id : 91394329410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the following :

Set -1 Set - 11
(a) Swayam Prabha (i) FM education radio network
(b) GIAN (Global institute (ii) Internet audio counselling service
of Academic Network)
(c) Gyan Vani (iii) Free DTH channel for education
(d) Gyan darshan (iv) Talent pool of scientists and entrepreneurs for
engagement with Indian higher education institution
(e) Gyvandhara (v)  Educational Television Channel
Code :

(@) (b) (c) (d) (e)

Options:

913345115385, (l) (LI'.) (V) (IV) (LLI'.)

o13043115386, (1) () (V) (1) (V)

o13943115357. WD) (V) () (v) (i)

913342115385,

Question Number : 47 Question Id : 91394329410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



freifera =1 gHferd =i -

g - 1 qge - 11
(a) TF g (i) UH.EA. foen e qeeas
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Options:

913345115385, (l) (LI'.) (V) (IV) (LLI'.)

013943115386, W) (1) (V) (@) (V)

913943115387, (i) (iv) @) (v) (@)

2123942115388,

Question Number : 48 Question Id : 91394329411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The institutions of eminence tag granted by the union government in public sector are :

(a) 1T, Delhi

(b) 1T, Bombay

(c) Jawaharlal Nehru University, Delhi
(d)  University of Hyderabad

(e) Pondicherry University

(

f) Indian Institute of Science

Options:

(a), (b), (d) and (e) only

912345115389

c), (e) and (f) only

913343115330 (b)’ (



(-i-'l), (b) and (f) [_‘gn[}.r

912345115551,

(C}, (d)x (E) and (f) [}]_‘l[}r

913345115392,

Question Number : 48 Question Id : 91394329411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Yd TN A FrEsiTe &5 1 o gafeps Heem 1 g fean 22
(a) STE.3AEE, T
b) maﬁﬁ,ﬁ

(

(c) SR Je% favafaeme, faed
(d) Tevars favafammer

(e) urfvg={l favafaame

() YR faqm HeH

fadh (a), (b), (d) 3R (e)

212942115389

&% (b), (c), (e) 3R (f)

913345115330

fa® (a), (b) 3R (f)

9123345115591,

fadh (c), (d), (e) R (f)

913345115392,

Question Number : 49 Question Id : 91394329412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following was launched on 2 October 1978 (the birthday of Mahatma
Gandhi) ?

Options:

National Adult Education Programme
913943115393, S

913943115394 LAUSAT



First educational radio channel
913943115395,

10+ 2+ 3 Scheme
913943115396,

Question Number : 49 Question Id : 91394329412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr=tifera © 9 ford 2 ST9ReR, 1978 (W Tl o1 917 fga®) &1 URy T ma a1?

Options:

I Wi e wrsFH

9133451155593,

Q12942115294 5
Ty ifarsk A ==

913345115555,

10 +2 + 3 IS

913345115596,

Question Number : 50 Question Id : 91394329413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
On the recomendations of which commission, 10+ 2+3 structure was incorporated in the
statement of National Policy on Education, 1968 ?

Options:

) i '1. ) .l1L1. ;
913943115397, Kothari Commission

| N '1- ) JL’L" )
913943115398 Mudaliar Commission

913943115599, Ramamurti Commission

Mandal Commission
913943115400,

Question Number : 50 Question Id : 91394329413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o M &t Fawer 92 10 +2 + 3 L1, T2 e ifd, 1968 & aadqsg § i &l T8 o ?

Options:

IS 3TN

913343115397,



913342115395, 5

Tgfd ST
912942115299,
Hed 3TEM

912942115400,
FPaper 1
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Question Number : 51 Question Id : 91394329414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Administration — not the sword — is the key to enduring power in the Great Society.” Who
said it ?

Options:
913943115401, ~oams Brook
913943115402, Cparles A Beard

913943115403, 2 ace B. Donham



Paul Pigors
9123942115404 Pig

Question Number : 51 Question Id : 91394329414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘w7 foh aeran e g | vt wfe B Fot 7 17 7w Foeea e @t 2

Options:

=
912345115401, =

HTed U, #tae
913943115402

qreid o1, SHEH
913943115403,

913345115404, I

Question Number : 52 Question Id : 91394329415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is net an outcome of 111 Minnowbrook Conference ?
Options:

Increase emphasis on comparative studies
913943115405,

Emphasis on action research and methodological pluralism
913943115406,

It has given a new definition of Public Administration
913942115407,

Centrality of Public Administration in providing democratic values
2123942115408,

Question Number : 52 Question Id : 91394329415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafeafiaa 4 & @ gt fietgs wies & fom 38 & 2
Options:
913943115405, : AR

& s o FHag ®9 & ageTag W AN
913943115408,



913845115407, A R at

AehdiTeh qed Y& H § wieh FEA hl Fegraar
913943115408

Question Number : 53 Question Id : 91394329416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following is advoecated by Patrick Dunleavy 7

Options:

Rapid Action Development Model
913943115409

Garbage Can Model
913942115410,

913942115411 New Public Service

Digital Era of Governance
913942115412,

Question Number : 53 Question Id : 91394329416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fr=ferfiga § & 8w gaert gro s sfoarfem ferm mn @ 2
Options:

ga wriard fawma sfomme
913943115409

912345115410, =

913845115411, TS 4N

e 1 feforea g
913943115412

Question Number : 54 Question Id : 91394329417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which one of the following theories are citizens viewed as ‘customers’ and public servants
are viewed as ‘public managers’ ?

Options:

Scientific Management
912942115412



913942115414 Human Relations

413943115415, New Public Administration

New Public Management
913343115416,

Question Number : 54 Question Id : 91394329417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=fefiga 4 & form faga & amft <t ‘amest 5 =9 1 3R o Tt St 6 T9us 5 59 5 g@0
AT R ?

Options:

gtk yau= |
9139432115413

913345115414, q

913345115415, kL 1

913342115416, kL q

Question Number : 55 Question Id : 91394329418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following theory expressed the need to design and redesign organizational
structure to achieve efficiency and economy ?

Options:

Human Relations Theory
913845115417,

Classical Theory
913943115418

Behavioural Theory
9133431154149

Decision-making Theory
9133243115420

Question Number : 55 Question Id : 91394329418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

2913942115417,

wreAtg g

2912942115418

913845115419,

Frofa-fmfor firgra
913943115420,

Question Number : 56 Question Id : 91394329419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is called ‘Second generation behaviouralist’ ?

Options:

913943115421 New Public Administration

New Public Management
913942115422,

Public Choice Theory
913942115423

New Public Service Theory
2912942115424,

Question Number : 56 Question Id : 91394329419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeafias 4 @ fea fadte didt 1 swagrardy’ +a s 2 2
Options:

2913942115421, T

913943115422, T T

wteh =/ fawes fagea
913943115423,

74 & oa1 g
913943115424,



Question Number : 57 Question Id : 91394329420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the ERG theory of Clayton P. Alderfer, ‘R’ stands for

Options:
Resolving
913943115425,
913943115406, Teiatedness
913943115407 Refinement
Responsive
913943115428,

Question Number : 57 Question Id : 91394329420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fored . TeretHt & 1.am ot faga & ‘e @ e 2

Options:

913343115425 AT
913943115426 dag
913343115427 TR
915242115428 ﬂi&wﬁﬁa

Question Number : 58 Question Id : 91394329421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two lists given below, List I provides the list of Thinkers, while List II indicates
Activities. Match the two lists and choose the correct answer from the code given below :

List I List IT

(Thinker) (Activity)
(a) M.P. Follett (i) Administration and Politics
(b) Luther Gulick (ii) Constructive Conflict
(¢) Henri Fayol (iii) Elements of Management
(d) Woodrow Wilson (iv) Executive Functions
Code:

Options:



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
9123421154239

(a)—(ii), (b)—(iii), (e)—(iv), (d)—i)
912345115420,

(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
912345115421,

(a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)
913342115432

Question Number : 58 Question Id : 91394329421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hr= gt gfeaf € w8 §, gt 19 fsmes, aan gt 11 9 frersers § | 37 <41 gfeat +t gitfea fifin
Ft e fm e e | & wdt I gfi

qe I 10
(Feramen) (Fmarerema)
(a) .t wide () wemEe 3 oeifa
(b) e Tfereh (i) T 53
(¢) &l Hara (iii) W€ % T
(d) g0 faeam (iv) shrefert

%2
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
912342115429

(a)—{ii), (b)—(iii), (e)—iv), (d)(i)
912345115420,

(a)—(ii), (b)—(iv), (e)—iii), (d)—~(i)
913345115421,

(a)—(iv), (b)), (e)—(ii), (d)—(iii)
9123942115432

Question Number : 59 Question Id : 91394329422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the two lists given below, List I provides the list of Authors, while List II indicates Books.
Match the two lists and choose the correct answer from the code given below :

List I List IT
(Author) (Book)
(a) Chris Argyris (i) Organization and Management
(b) Rensis Likert (ii) The New State
(¢) Chester Barnard (iii) The Human Organization
(d) M.P. Follett (iv) Understanding Organizational Behavior

Code:
Options:

(a)—(1), (b)—(ii), (e)(iii), (d)—{iv)
9139431154332

(a)—(ii), (b)—(i), (e)~(iv), (d)—(iii)
9133421154324

(a)—{iv), (b)~(1), (e)—(iD), (d)—{iii)
913945115435,

(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii)
912942115436,

Question Number : 59 Question Id : 91394329422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr= 3t gfeat & d €, gt 14 S, a9 gt 11 5 g5 § 1 39 <1 gt 6t gafaa fifse o fi=
fau o e d & Tt I g

T 1 |t 1T
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(b) = fowd (i) fgwe
(¢) et TS (iii) &Y B FATTATESEA
(d) w1, wieie (iv) srvgtedfen sriffrgasme fagfaem

e
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334211543=

(a)—(ii), (b)), (e)-(iv), (d)—(iii)
913945115434

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
913945115435

(a)—(iv), (b)(iii), (e)—(i), (d)—(ii)
913943115436,



Question Number : 60 Question Id : 91394329423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conforms to non-programmed decision of Herbert Simon ?

Options:

Decision to pay gratuity to an employee as per Government Rules
913942115437, pay gt w proy pe

Decision to grant Earned Leave to a Central Government employee
912942115428,

Decigion to send Space Lab to Mars
9159421154359,

Decision to float tender for a bridge over river Ganga
913942115440,

Question Number : 60 Question Id : 91394329423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frefefiaa & @ @ g arge % Mwdwfa s A g s 2 2

Options:

gt frmt & sigam w5t YT H o
913943115437, e -

g TR & FHAEE I AN FHaHT wgH w3 w1 faofy
913943115438,

OTTe g W afafie S dan & ol
913943115439,

Tt 3t W e e o ferg Pfegnd s w6 = Fofr
912943115440,

Question Number : 61 Question Id : 91394329424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is not included in Willoughby’s division of scope of Public
Administration ?

Options:

913943115441, Lersonnel

913943115442, | mance
Organization

913345115443,



Purchase and Suppl
9123942115444 PPy

Question Number : 61 Question Id : 91394329424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frferfiaa 9 & =0 fasitat & i wamaa % &7 % favrsm & mive 727 2 2

Options:

913943115441, i
913942115442, fom
913942115442, e
913943115444 ﬁn‘rﬂﬁ?ﬂ?{ﬁf

Question Number : 62 Question Id : 91394329425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is/are true concerning the meaning of Public Administration as
propounded by Felix A. Nigro ?

(i) Itisa co-operative group effort in a public setting.
(ii) It covers Executive, Legislative and Judicial branches and their inter-relationships.
(iii) It is the art and science of management as applied to the affairs of State.

(iv) It is closely associated with numerous private groups and individuals in providing
service to the community.

Choose the correct answer from the code given below :

Code :

Options:

Only (i)
915942115445,

(i) and (ii)
912943115446

(i), (ii) and (iv)
915943115447

(i), (ii), (iii) and (iv)
915942115448,

Question Number : 62 Question Id : 91394329425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefefiga & & @ o v it gro sfearfea < wames % o & gaw d adt 278 2

(i) I8 e sqaeq1 | U WaEnll Hg T g |

(i) g wrefarfer, faafie s =nfaes smamd it 37 sfadldy wmifte &9 € |

(iii) 78 TP ATHE! § AT To-u i e 3R g 2

(iv) TE1 THEHA I a1 YgH HH 8 e Foft gl off safwrt & o free gav @ 21

fr=r feu o g2 # @ wdt I H g
C T
Options:

Fad (i)
913943115445

(i) #H (i)
913943115446

(1), (i) 31 (iv)
913943115447

(i), (ii), (iil) 31 (iv)
913943115448

Question Number : 63 Question Id : 91394329426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is not included in Sir Josiah Stamp’s distinetion between Public
and Private Administration ?

Options:

Principle of Uniformity
2912942115449

Principle of External Financial Control
913943115450

Principle of Ministerial Responsibili
913345115451, P =po v

Principle of Political Character
912942115452,

Question Number : 63 Question Id : 91394329426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeafiga 4 & s ox Siftrn e % & ofit Fsft s < ot fade & wnfere 2 2 2
Options:

wshEgl i g
912345115449



ferefta foregam =01 fagrea
913943115450, hL

qATel g IR % fagea
913943115451,

wreritfares wafa 1 fargra

913345115452,

Question Number : 64 Question Id : 91394329427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following is called ‘Prophet of Management” by Peter Drucker ?

Options:

Frederick Taylor
913943115453,

Henri Fayol
913943115454,

913943115455, 0L onett

913943115456, Cpester I Barnard

Question Number : 64 Question Id : 91394329427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et gt % igan Frafefiaa & @ fodt o w1 g’ Fa1 T 2 2
Options:

913345115453, &

B
913943115454, &

wn. 4. Hicte
913943115455,

L TS, TS
913943115456,

Question Number : 65 Question Id : 91394329428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Exploitative Authoritative’ Leadership style was advocated by

Options:



Fred E. Fiedler

913943115457,
913943115453, orertd. House
913943115459, Llam Reddin
913943115460, ensis Likert

Question Number : 65 Question Id : 91394329428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fgea B “wemardt St wyornrl et it asme Freferfiaa # & fes g from oft 2

Options:

%s 3. fhee
9139423115457,

fad o, 3|
913942115458,

farferam =
Q912943115459
912942115460,

Question Number : 66 Question Id : 91394329429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is not correct about Weberian Model of bureaucracy ?

Options:

Rigid adherence to the principle of hierarchy
2913942115461,

Recognition of informal organization
913943115462

Belief in increase of efficiency
913943115463

Emphasis on maintenance of written document
913943115464

Question Number : 66 Question Id : 91394329429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Freafafi o & 7A@t F A afmm SR d ot a@f 2 2
Options:

912345115461, gt 1 FR

FtgETfE Ored i vEeEE
913943115462

gegan it afg # favama
913943115463

fafigd Teamae % TEw@E W AR
913943115464

Question Number : 67 Question Id : 91394329430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Bureaucracy is a combination of organizational hierarchy and red-tape.

Reason (R) : Hierarchy and red-tape are symbiotic. Hierarchy produces red-tape. The larger
the number of hierarchical levels, the greater the demand for explicit rules.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942115465,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q12943115466

(A) is true, but (R) is false.
Q12942115467

(A) is false, but (R) is true.
Q15942115465

Question Number : 67 Question Id : 91394329430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



(A) 3T (R) g1 91 (R), (A) < 981 =4m&Tn & |
913943115465, & al ¢

(A) 3R (R) gHT 9t &, T (R), (A) B Tt samen 7 & |
913943115466

(A) T# 8, T (R) Ted & |
913943115467

(A) TeTd B, g (R) T8 & |
913943115468,

Question Number : 68 Question Id : 91394329431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is not a merit of Unity of Command ?

Options:

Speedy decision-makin
9139431154689 Y &

Flexibility of action
913942115470,

Better relations between superior and subordinate
9132453115471,

Reduction of duplication of work
912942115472

Question Number : 68 Question Id : 91394329431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freaferfiga o & sta-an e A wehan =1 0 T8 2 7

Options:

212942115489

2913942115470 b

FeTiteRieEt qur srdiael & 96 s g9y
913943115471,

14 = Sretd S 7 HE
913943115472,

Question Number : 69 Question Id : 91394329432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is not correct about Kautilya’s Arthashastra ?

Options:

Perennial problem of acquiring and maintaining the Earth.
2123942115473,

1t is the art of government in wider sense.
913942115474

It is a science which deals with statecraft in the internal and external sphere.
913942115475,

It justifies limited powers of the monarch.
913942115476,

Question Number : 69 Question Id : 91394329432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

st s adym s b feffaa d 4 s v od 78 2 2
Options:

i i 9TH F 3 T T f wrvad g |
913943115473

T o419 &9 & IMET I Fer g |
913943115474,

9139432115475, 7z o famm @ form daw st it arel s & e Fean A 7

913943115476, Tz T 1 Hifira st st =mifEd g @

Question Number : 70 Question Id : 91394329433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following approaches considers decentralisation as an end and nof as a
mean ?

Options:

Doctrinal Approach
913942115477,

Political Approach
912942115473,

Administrative Approach
913943115479

Dual-role Approach
913942115480,



Question Number : 70 Question Id : 91394329433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frfeafaa & & sia-a samm fas=fien it aram 78 «fcs oen aRar 2 2

Options:

S
9123345115477,

913345115475,

9133451154739

ga-yfirenr JurTH

912345115480

Question Number : 71 Question Id : 91394329434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following conforms to the idea that ‘People dislike work, have little
ambition and are unwilling to take responsibility’ ?

Options:

Theory X'
913845115451,

Theory Y"
913943115482,

Theory &'
913343115453,

MBO (Management by Objectives)
912942115454

Question Number : 71 Question Id : 91394329434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfefiga & & =9 380 o A1 gfee w2 F6 S rf 6t Aoa=g w0 8, 30 TETRe #49 g 2
i Fondrerlt & o wfe sifegs & & 2

Options:

mﬁ‘ ix?
9129421154581,

Rrzia v
2913942115482,

fogi 2

913345115483,



w3, (LTt g gEeuA)
913943115484

Question Number : 72 Question Id : 91394329435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the following regarding Taylor’s concept of ‘A Piece-Rate System’ :

(i) Observation and analysis of work
(ii)  Differential rate system of piece-work
(iii) Paying men and not position

(iv) Giving formal training

Choose the correct answer from the code given below :

Code :

Options:

(1) and (ii)
9123942115485,

(1), (ii) and (iii)
9123942115456,

(ii), (iii) and (iv)
912943115487,

(1), (ii), (iii) and (iv)
9123942115488,

Question Number : 72 Question Id : 91394329435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e it ‘v dta-te e’ it sragmon & gayg § Frafafas w fem St
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(ii) ArETATdt w A fadge U ot
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Options:

(i) #fH (i)
913943115485

(1), (i) 3 (iii)
913943115456



(id), (iii) 3 (iv)
913942115487,

(i), (ii), (i) 21T (iv)
913943115488

Question Number : 73 Question Id : 91394329436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following is called the Father of American Public Administration ?

Options:

913943115459, " eodrow Wilson

913943115490, | rankd. Goodnow

913943115491, D White

W.F. Willoughby
913943115492,

Question Number : 73 Question Id : 91394329436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frefafiaa & @ frd smfeh ot wemas =0 w9 *8 9T & 2

Options:

gett faeum
913943115489,

% o, TeTH
913943115490,

g1, =8
913943115431

oy, 0%, faetet
913943115492,

Question Number : 74 Question Id : 91394329437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following is the critic of Thomas Carlyle’s ‘Great Man Theory’ of
Leadership ?

Options:

913943115493 - ralunas



Herbert Spencer
913943115494,

913943115495, | rederick Adams Woods

913943115406, ax Weber

Question Number : 74 Question Id : 91394329437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Preafefiga & & i yima Fefsa g gadt Ue 89 =l (vem =afw fagra) 1 e 2 2
Options:

dt.u. dgame

913345115453,

T
913943115494, Lot

e
913943115495, 3

913342115496, fr

Question Number : 75 Question Id : 91394329438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The principle that people in a hierarchy tend to rise to their ‘level of incompetence’ is called
Options:

Esprit de Cor
G129421154497. P ps

Grapevine
9139421154938,

Peter Principle
913245115499

Gangplank
912942115500,

Question Number : 75 Question Id : 91394329438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ae fagra forat Sl 6 ggaiam § e ‘stermen @ W i A e F @ wdt &, Feerma &

Options:



ufEre g sicd

913345115497

9123451154595,

913345115459 e

9123345115500,

Question Number : 76 Question Id : 91394329439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The recommendations of lﬁth Finance Commission shall be implemented from which one
the following dates ?

Options:

1°* April, 2019
913943115501,

1°* April, 2020
913943115502,

1°* April, 2021
913943115503,

1°* April, 2022
913943115504,

Question Number : 76 Question Id : 91394329439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

154 fam ama i fawifal frefafias 4 @ fea arfa & wog arf 2
Options:

1 2%, 2019
913943115501,

1 218, 2020
913943115502,

1 #%e, 2021
913943115503,

1 #%e, 2022
913943115504,

Question Number : 77 Question Id : 91394329440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which one of the following Articles of the Constitution of India traces the origin of the
Controller General of Accounts (CGA) ?

Options:

913943115505, ‘rticle 148

913943115506, ‘ricle 149

913943115507 ‘riicle 150

913943115505, ‘ricle 151

Question Number : 77 Question Id : 91394329440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
W wfe % fefefaa § & fea sen § mareran s (d.9.0.) % 3gm @ @@ 2 2

Options:

FHIwog 148

913342115505

Ff=og 149

9123345115506

FHI=og 150

913345115507

Fg=og 151

913345115508

Question Number : 78 Question Id : 91394329441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What are the characteristics of Line-item Budget ?
(i) It is a British legacy.
(i) It is a system of check and counter check.
(iii) It facilitates decentralization.

(iv) It is aimed at rigid control over expenditure.

Choose the correct answer from the codes given below :

Code :
Options:

(i) and (ii)
9123345115509,



(i), (ii) and (iv)
913342115510,

(ii), (iii) and (iv)
9123345115511,

(i), (ii), (iii) and (iv)
913345115512,

Question Number : 78 Question Id : 91394329441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g et swie it wn Fagrgamd € 2
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Options:

(i) & (ii)
913943115509,

(i), (ii) 3T (iv)
913943115510,

(id), (iii) 3 (iv)
913943115511,

(i), (ii), (i) 21T (iv)
913943115512,

Question Number : 79 Question Id : 91394329442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which Articles in Part V of the Constitution of India form the basic structure of the
institution of the Comptroller and Auditor General of India ?
Options:

913943115513 rtice 148 to 151

913943115514 ‘irticle 149 to 152

913943115515, rticle 150 to 151



Only Article 151
913943115516,

Question Number : 79 Question Id : 91394329442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
W % |49 % 9 VH S8 sigeeg °§ i % e o nereraradters geen i s
=T R ?

Options:

Fgwog 148/ 151

913345115513

e 149 & 152

913345115514

Fig=ag 150 & 151

913345115515

Fae IF=eg 151

9133421155168

Question Number : 80 Question Id : 91394329443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Rule of Lapse as a principle of budgeting is inherent in the principle of

Options:

One budget for all financial transactions
2912942115517,

913943115515 stmation should be close

Annuality of the budget
9139421155149 W dg

Form of estimates to correspond to form of accounts
913942115520,

Question Number : 80 Question Id : 91394329443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
swdta fagia % &9 # =awra @1 Fram o faga § safifea & 2

Options:

913943115517 bl 2 % o o e



ke e g1 =ifa

913345115515,

2129421155149 T

HTee™ 1 TEY S TEY % FFEY BT =180
913943115520

Question Number : 81 Question Id : 91394329444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is not a Regulatory Authority in India ?

Options:

Telecommunication Regulatory Authority of India
9133943115521,

Insurance Regulatory and Development Authori
913942115522, g v P t}r

913943115505 Fress Council of India

National Highways Authority of India
913343115524

Question Number : 81 Question Id : 91394329444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frafafiga & & - yrg o v Frams wftemo a8 2 2
Options:
912942115521,

i e wE T wrfteso
913943115522

g 3| gfeg
9139432115523

Rt et T wrfereR
913943115524

Question Number : 82 Question Id : 91394329445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Consumer-tagged financing moves away from assigning budget directly to
providers, instead it links funding with clients or consumers.

Reason (R) : This opens up the possibility of consumers making choices for themselves
between competing providers.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942115525,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
912942115526,

(A) is true, but (R) is false.
913845115527,

(A) is falze, but (R) is true.
915942115528,

Question Number : 82 Question Id : 91394329445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(A) #(R) 79T (R), (A) A 98t =31 & |
913943115525, T @ L

(A) 3R (R) ST &@t &, 9 (R), (A) 1 Tet samemn 71 2 |
913943115526,

(A) &dt 2, 9=q (R) Teid 2 |
913943115527,

(A) TeTd ], Wd (R) H&t 2 |
Q1=94=21158525E.

Question Number : 83 Question Id : 91394329446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : The Government of India authorized the Central Vigilance Commission as
the ‘Designated Agency’ to receive written complaints for the disclosure on any allegation of
corruption or misuse of office from whistle blowers.

Reason (R) : Public Interest Disclosure and Protection of Informer empowers the Central
Vigilance Commission to recommend an appropriate action.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
915943115529,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q915942115520

(A) is true, but (R) is false.
Q139421155321

(A) is false, but (R) is true.
Q912942115522

Question Number : 83 Question Id : 91394329446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(A) #(R) 79T (R), (A) A 98t =31 & |
913943115529 T @ L

(A) 3R (R) ST &@t &, 9 (R), (A) 1 Tet samemn 71 2 |
913943115530,

(A) T# 8, T (R) Teid & |
9139432115531,

(A) TeTd ], Wd (R) H&t 2 |
Q1=94=21185=2.

Question Number : 84 Question Id : 91394329447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who coined the term ‘Lokpal’ ?

Options:

Morarji Desai
913345115533,

Laxmi Mal Singhwi
2913942115534,

913943115535, - Santhanam

91394311553¢, ‘nna Hazare

Question Number : 84 Question Id : 91394329447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freafeafaa 4 @ fean “Seara’ (wrsg) v &t w6t 2
Options:

HCa 2ET
913943115533

913345115534, Al A

912345115535, %.

1 BAR

913345115536,

Question Number : 85 Question Id : 91394329448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who is responsible for recording the minutes of the Cabinet meeting at the Union Level ?

Options:
Cabinet Secretary
913943115537,
Principal Secretary to Prime Minister
913343115538
Special Secret
9132453115539 pea w

Secret
913942115540 ary



Question Number : 85 Question Id : 91394329448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

%3 T L Alee it de % Frfadi & Afieras % fau wF IEeEt 2 2
Options:

913345115537,

9123345115535, o

912345115539

913345115540,

Question Number : 86 Question Id : 91394329449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

For motivation of Civil Servants, the awards for recognizing good performance should be
instituted at the State and district levels. Which Report of the Second Administrative
Reforms Commission contains this recommendation ?

Options:

Report on Ethics in Governance
913942115541,

Report on Local Governance
913942115542,

Report on Refurbishing of Personnel Administration
2912942115542,

Report on Promoting e-Governance
913943115544,

Question Number : 86 Question Id : 91394329449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

9mEa # A=R Hadt sfieea
913943115541,

TG IEE Hedt wfaee
9139432115542



it wemEe i Eewda gadt gfiage
913943115543,

9123345115544, AR % Fee Fef

Question Number : 87 Question Id : 91394329450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following amendments raised the Retirement age of the Chairman and
Members of State Public Service Commission from 60 to 62 years ?

Options:
th
913942115545, 39

th
913845115546, 40

913345115547,

9133421155485,

Question Number : 87 Question Id : 91394329450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafeafiaa & & form getam gro Usa &ies St ST % sreas o wowEl & darfafa $t 3y 60 &
TR 62 T HI MER ?
Options:

913345115545, 394l

913845115546, 404l

913345115547, 14

9133451155485, 24

Question Number : 88 Question Id : 91394329451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following took the important steps to organize and strengthen the
Secretariat in India during the British period ?

Options:



Lord George

913943115549
913943115550, ord Cornwallis
913943115551, . obbins
913943115552, o pn fssheton

Question Number : 88 Question Id : 91394329451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

913345115549

913345115550 e

913845115551, A

L Tew THEe

9123345115552,

Question Number : 89 Question Id : 91394329452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“District Collector is that tortoise on the back of which, the elephant rides.” This statement is
given by

Options:

Ramsay MacDonald
913943115553,

Ramsay Muir
913943115554

John Montgome:
9139421155EE, '8 v

913943115555, ‘vD- Gorwala

Question Number : 89 Question Id : 91394329452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

9123943115553, W i

2912942115554, Aakal

2913942115555, R

o g, ThEren
913943115556

Question Number : 90 Question Id : 91394329453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which of the following years did the Controller General of Accounts (CGA) come into
existence in India ?

Options:

913345115557, 1970

_
913943115558, 010

9133451155549 1976

2913942115560 1971

Question Number : 90 Question Id : 91394329453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafeafiga 4 & frg of wia & e Fass (dofe,) sifgee § amn 2
Options:
913943115557, 010

_
913943115558, 1000

9138451155549 1976

912345115560, 1977



Question Number : 91 Question Id : 91394329454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Uncle Syndrome’ is related to which of the following ?

Options:

Appointments to Higher Judici
913942115561, Ppo & ary

Nepotism in Bureauera
913942115562, po &

Delegated Legislation
913942115563, & gisl

Investigation by Vigilance Commission
913343115564,

Question Number : 91 Question Id : 91394329454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘siohe Tie Frefefas o o fraa gefia 2 2
Options:

Fw e # Frfe
913943115561

| Frerramdl # wrE-weftararg

913345115562

913845115563,

Teehe1 TN AT 3790
913943115564

Question Number : 92 Question Id : 91394329455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is correct regarding the NITI Aayog ?
Options:
A Constitutional Agency
2913942115565

A Staff Agen
Q12942115566 gency

A Line Apen
9139432115567, geney



An Auxill en
912942115568 ary Agency

Question Number : 92 Question Id : 91394329455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

if s % T § Prefefar § 3 v E@ 2 2

Options:
us gaurfre arfirem
913943115565,
U I Al
913943115566,
e Al
913943115567, i
Heras Al
913942115568, e

Question Number : 93 Question Id : 91394329456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : National Development Council considers social and economic policy affecting
national development.

Reason (R) : 1t secures the active participation and cooperation of people required for
national development.

Code:
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
2123942115569
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
915942115570,
(A) is true, but (R) is false.
913943115571,
(A) is false, but (R) is true.
213942115572

Question Number : 93 Question Id : 91394329456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(A) 3 (R) 7T (R), (A) i 98t =amean & |
913942115569, T v &

(A) 3 (R) 31 5@t &, o (R), (A) 1 Gt s T2 R |
913943115570,

(A) e B, T (R) Teid 2 |
913943115571,

(A) TTerd &, T (R) T8 & |
913943115572,

Question Number : 94 Question Id : 91394329457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“There iz a need to recognize the outstanding work and performance of the Civil Servants
through National Awards.” Which Commission/Committee gave this recommendation ?
Options:

913943115573 st Administrative Reforms Commission

913943115574 Second Administrative Reforms Commission

913943115575, ©-C- Hota Committee

Y.K. Alagh Committee
Q13942115576

Question Number : 94 Question Id : 91394329457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Fieh Taehl & Iese Hd IR FE-Feres F UsfE wEwRt g wrrT weE F i wea 8 1 fea
Frar/atafa 3 77 fawrfa 6t 2

Options:

TR FATETR AR AT
913943115573

feeftar wmafas gum smam
913943115574



.+, grer afiufa
913943115575,

ams.%, oy afufa
913943115576,

Question Number : 95 Question Id : 91394329458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Lateral entry to Civil Services can crush the steel frame of India.

Reason (R) : Lateral entry of outside experts into top administrative posts ushers in world
class expertise.

Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942115577,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q912942115575

(A) is true, but (R) is false.
Q1=294=21155749

(A) is false, but (R) is true.
Q915942115580

Question Number : 95 Question Id : 91394329458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A= gt o fog e 8, f @ o atfirem (A) R oft qgu 9% (R) @ | e 0t afen ofl e feg e
2 WA FHd I g |

fireperT (A) : @ik Hanadt § nfveds &9 e o e B0 T8 F R E |

7% (R) - arelt fadmst & orfvds wam & ot semarfres o o fave et frssran 6 sy &b
% :
Options:

(A) 3 (R) 7T (R), (A) i 98t =amean & |
913942115577, T v &

(A) 3 (R) 31 5@t &, o (R), (A) 1 Gt s T2 R |
913943115578

(A) &8t 2, 9=q (R) Trerd 2 |
913943115579,



(A) e B, T (R) T B |
913943115580,

Question Number : 96 Question Id : 91394329459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which of the following budgets was the salary of the President of India raised to ¥ 5 lakh
per month ?

Options:

B
913943115581 201816

913943115582 2016 -17

913943115583, 2017 -18

913943115584, 2015-19

Question Number : 96 Question Id : 91394329459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafefiga 4 & forg w92 & wrE & trafa <1 999 s © 5 @@ gfd are T w7

Options:

B —
913943115551, 201516

913943115582 201617

913943115583, 2017 -18

913943115584, 2018 -19

Question Number : 97 Question Id : 91394329460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Seven Steps Model’ has been recommended in which of the following reports of the Second
Administrative Reforms Commission ?

Options:

Report on Right to Information
913942115585,

Report on Citizen Centric Administration
913942115586,



Report on Promoting e-Governance
913943115587,

Report on Ethics in Governance
913942115588,

Question Number : 97 Question Id : 91394329460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fiefra e gum s & frfafa § @ frm sfrdes § am wen sfeme’ i sam 2 2
Options:

% Ffern gadt wftraes
913943115585,

i w3 vme dadt sfiEe
913943115586,

912345115587, I =

e # =R gedt wfade
913943115588,

Question Number : 98 Question Id : 91394329461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following Committees is often described as a ‘Super Cabinet’ ?

Options:

913943115589, Cabinet Committee on Economic Affairs
Cabinet Committee on Parliamentary Affairs

A12942115590.

913943115591 Cabinet Committee on Political Affairs
Cabinet Committee on Security

912942115592,

Question Number : 98 Question Id : 91394329461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frefefiga & & form wfifa &ty g e sar s g 2

Options:

9138451155849 #



913845115530, # afifa

0130431 1ccgy i Amal # AfmvsHia afif

gran W whmveets ofufa
913943115592,

Question Number : 99 Question Id : 91394329462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is a subject of Concurrent List in India ?

Options:

Corporation Tax
913942115593

Economic and Social Planning
913245115594

913943115595, 1008

913943115506, | ndustries

Question Number : 99 Question Id : 91394329462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeafiaa 4 @ s, yra & gvadf gt = w2 2

Options:

913845115553, *

At wa gt Feem
913943115594

913345115555, &I R

2123942115596,

Question Number : 100 Question Id : 91394329463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following Departments of the Ministry of Finance prepares the Union
Budget in India ?

Options:



Department of Revenue
913943115597,

Department of Expenditure
913343115535

Department of Economic Affairs
9133451155949

Department of Financial Services
913943115600,

Question Number : 100 Question Id : 91394329463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
v # Frefefaa & @ faw darem & s faym wefta awe it dam s g 2

Options:

913345115557,

9123451155595, e

9133451155599 i

913845115600, St =

Question Number : 101 Question Id : 91394329464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Swachh Bharat Mission aims to achieve an Open-Defecation Free (ODF) India by
Options:

2™ October, 2019
913943115601,

2™ October, 2020
912942115602,

30" January, 2021
912943115603,

30™® January, 2022
913943115604,

Question Number : 101 Question Id : 91394329464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



woee WA fiem 1 95 %4 9% UG B gd § 0 0w (S us.) FE w7
Options:

2 A%, 2019
913845115601,

2 A%, 2020
2123942115802,

30 S-ail, 2021
913943115603,

30 S=ail, 2022
913942115604,

Question Number : 102 Question 1d : 91394329465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following is not covered under 4Ds of Rashtriya Bal Swasthya
Karyakram ?

Options:

Defects (at birth)
912942115605,

913943115606, Leficlencies

913943115607, iseases

Diagnosis
9123345115605,

Question Number : 102 Question Id : 91394329465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfeafiga 4 & - wsdta 91a ey wdsEa o+ 43 9 e T8 & 7
Options:

913345115605, = ( ) )

whrat (fefsfeta)

913345115606,

et (fesfra)
913943115607,

frem (srg=ifera)

9138451156085,



Question Number : 103 Question Id : 91394329466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Consider the following about the ‘Ayushman Bharat Yojana' (NHPS) :
@) Its launch date is 25" September 2018.
(ii) It aims at opening about 1-5 lakh health and wellness centres across the country.
(iii) It provides health insurance coverage upto ¥ 5 lakh a year per family.

(iv) The scheme will cover about 10 crore poor and vulnerable families.

Choose the correct answer from the code given below :

Code :
Options:

(1), (ii), (iil) and (iv)
912345115609

(ii), (iii) and (iv)
Q13942115610

(i), (i) and (iv)
2912942115811,

(i), (iii) and (iv)
913345115612,

Question Number : 103 Question Id : 91394329466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘HrgeaT W Ao (R.uE g eg) % 9§ Frefafas o fiem fifa
(i) & 25 faamn 2018 d smey fFm mm |
(ii) 3H1 @59 T AW H SN 1-5 W T 3 ST S wenfid e
(iii) I8 T 5 W@ e 1 Tareed #mn guan wfa afEm ufa o sveren s @ |
(iv) 38 Aot ® s 10 Firs Fefw ofit S aftemt +t e feran smam |

Hre feu o g2 # © @t I w g
C T

Options:

(1), (i), (iii) 3 (iv)
913943115609

(ii), (iii) 37 (iv)
913943115610,

(1), (ii) 3 (iv)
913943115611,



(), (iii) 31 (iv)
913942115612

Question Number : 104 Question Id ;: 91394329467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Access to “WASH' programme does nof include which one of the following 7

Options:

913943115613, oole water

Adequate sanitation
913943115614,

Supply of electrici
913942115E1E5. PRy &

Proper hygienic conditions
913942115616, perivel

Question Number : 104 Question Id : 91394329467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafiga & & 7-a o ‘e’ Friwn 7 989 § wie T8 2 2
Options:

gifera sia

2915942115612

2913942115614,

fersreft it amafd
913943115615,

aufua wameert feufaat
913943115616,

Question Number : 105 Question Id : 91394329468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the two lists given below, List I provides the list of Movements, while List II indicates
Years. Match the two lists and choose the correct answer using the code given below :

List I List IT
(Movement) (Year)
(a) Chipko Movement (i) 1978

(b) The Silent Valley Movement (ii) 1989
(¢) Narmada Bachao Movement (iii) 1983
(d) Appiko Movement (iv) 1973

Code :
Options:

(a)(1), (b)—(ii), (e){iii), (d)—(iv)
915942115617,

(a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)
9133242115615

(a)—(ii), (b)—{iv), (e)—(iii), (d)—(i)
913943115619,

(a)—(iii), (b)—(ii), (e)-(i), (d)—(iv)
912342115620

Question Number : 105 Question Id : 91394329468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr= <t et & 8 | gt 19 smeciem, qon = 10 9 8 | 39 ot it w6t gafee fifie st
Fr= faw o e 1w Fd g wE I gh

et 1 et I
(srgrer) (=)
(a) faT! s=geM (i) 1978

(b) Higeiee aeft #gred (ii) 1989
(¢) e Tt ATEreA (iii) 1983
(d) wfteht FereH (iv) 1973

%
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
9133242115617

(a)—(iv), (b)~(1), (e)—(iD), (d)—{iii)
9139431156158

(a)—{ii), (b)—{iv), (e)—(iii), (d)—(i)
913943115619,

(a)—(iii), (b)(ii), (e)—(1), (d)—(iv)
9123943115620,



Question Number : 106 Question Id : 91394329469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Indian Artificial Organs Manufacturing Corporation is an Executive Organization of which
of the following Ministries ?

Options:
Ministry of Health
915942115621,
Ministry of Industry
Q12942115622
Ministry of Social Justice and Empowerment
9129421156232 po
Ministry of Finance
Q915942115624

Question Number : 106 Question Id : 91394329469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

yredta s o Fmfo fm frafafias & @ fea @ = srieht g 8 2

Options:
913943115621 R T
913943115622, S e
gt =g ue sAfteRfaT g9
913943115623
913943115624, fo e

Question Number : 107 Question Id : 91394329470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the two lists given below, List I provides the list of Concepts, while List I indicates
Modes. Match the two lists and choose the correct answer from the code given below :

List I List IT

(Concept) (Mode)
(a) Political empowerment of women (i) Universalization of health/education
(b) Social empowerment of women (ii) Representation in decision making bodies
(¢) Economic empowerment of women (iii) Access to justice

(d) Legal empowerment of women (iv) Access to resources

Code :



Options:

(a)—(i), (b)—(ii), (e)(iii), (d)—{iv)
913945115625,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
913943115626,

(a)—(ii), (b)), (e)(iii), (d)—(iv)
913943115627,

(a)—(iii), (b)—(ii), (e)—(iv), (d)—i)
915942115628

Question Number : 107 Question Id : 91394329470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr= <t et § v & | =t 18 sraumon, qur gt 109 srem § | 37 g1 e w gafaa S
i = fau Mo g w1 v Fd g wE Ie w9

Tl 1 e 11

(sr=umom) (wremm)
(a) wfgenatt &1 worfifes anfren () amee/fnean & et
(b) wfgenatt &t grarfes gufmem (i) Fofas Pt & sfafifes
(c) wigwnadt 1 anfife ouftrror (i) =1 7 989
(d) wfgeatt w1 fafess aoferer (iv) wEmeel @ g

e :
Options:

(a)—(1), (b)—(ii), (e)—(iid), (d)—(iv)
913342115625

(a)—(ii), (b)), (e)-(iv), (d)—(iii)
913945115626,

(a)—(ii), (b)—1), (e)(iii), (d)—(iv)
913943115627,

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
9133242115628

Question Number : 108 Question Id : 91394329471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is not correct regarding the Planning for women in India during
the Elth Five Year Plan ?

Options:

Women empowerment as one of its primary objectives.
9129421152249 po P )



Convergence of existing services available for women.
913943115630

Beneficiary oriented scheme was introduced for women for the first time.
913942115631,

Women Component Plan with at least 30% of funds/benefits for women was introduced for

913943115630, e first time.

Question Number : 108 Question Id : 91394329471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Feft geradfa Ao % S wra § wfgensd g Frarem gadt Prafafies 4 @ w0 od 0@ 20

Options:

913943115629, sfeett iR g fird SRRt A A TH R |

nfgernadl & Ivcea Harai & A |
913943115630,

ot &g e w=hg =it et
913943115631, afeena &g 3@ SoH &R ] fera T |

nfgenadt &g F0-8-%0 30 wfawe Ge/amt areht wfeen g e it wom aw @ fra mn |
913943115632,

Question Number : 109 Question Id : 91394329472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The status of ‘Institute of National Importance’ in the field of education is conferred by
Options:
913943115633 An Act of Parliament of India

The Ministry of Human Resource Development
9139421156254

The University Grants Commission
2912942115635,

913943115636, The President of India

Question Number : 109 Question Id : 91394329472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

farem % &= # ‘oig wEw % gee i Sl e g wem o i & 0

Options:



913845115633, e o

qa g T w1 g
913943115634,

912345115635,

913845115636,

Question Number : 110 Question Id : 91394329473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The statement ‘Everyone has the right to education, education shall be free, at least in the
elementary and fundamental stages’ is enshrined in which of the following ?

Options:

Universal Declaration of Human Rights (Article 26(1))
913942115637,

Fundamental Rights (Article 19)
9123942115628,

Directive Principles of State Policy (39A)
912942115629

Right to Information Act, 2005 (Provision 1I)
Q915942115640

Question Number : 110 Question Id : 91394329473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

77 %9 for ‘vl safen w6t fren = aifteer 2, fien -89 yfere oi difers s o foges
anft’ el wfersarfi & 2
Options:

HEaTieR = aray e g 26(1
913943115637, (37F=a 26(1))

913345115635, ( 19)

=g = Hife Fewe o= (39
913943115639, v

g1 1 siferer sifufem, 2006 (Iwaeg 1)
913943115640,



Question Number : 111 Question Id : 91394329474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What are the principal objectives of control over Public Enterprises ?
(i)  Promotion of Efficiency

(ii) Attainment of national objectives
(iii) Achievement of targeted result

(iv) Regulation of power concentration

Choose the correct answer from the code given below :

Code :
Options:

(i), (i) and (iii)
912345115641,

(ii), (iii) and (iv)
9123345115642,

(i), (iii) and (iv)
Q912942115645

(1), (ii), (iii) and (iv)
Q915942115644

Question Number : 111 Question 1d : 91394329474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e Jewt Wt s %1 wE s e R 0
(i) Furear i Seared
(i) Tredta s it wify
(iii) =& afcore st STE T
(iv) wifeR gt 1 fafaemm

Hre fou o e # | @t I w g
C T

Options:

(1), (i) 3 (iii)
913943115641,

(id), (i) ¥ (iv)
913943115642

(), (iii) 3 (iv)
Q1=94=211564=,



(i), (ii), (i) 31 (iv)
913942115644,

Question Number : 112 Question Id : 91394329475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Articles of the Indian Constitution prohibits the employment of
children in factories ?

Options:

913943115645, “riice2l

913943115645, ‘ricle23

913943115647 ‘rticle24

913943115645, ‘ricle26

Question Number : 112 Question Id : 91394329475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefefiga & & wrefta d@faum 1 F-m sigeag a=1 F FR@HE § FH FE 8 Thal 2 ?
Options:

Fgeag 21

913345115645

Fgeog 23

913345115646

Fgeag 24

913345115647

FI=og 26

2915942115648

Question Number : 113 Question Id : 91394329476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fresh evaluation of every item of expenditure in the financial year is known as
Options:

Performance Budgeting
2123942115649

Ziero-based Budgeting
913943115650,



Deficit Budgeting
913943115651,

Programme Budgetin
913942115652, B & &

Question Number : 113 Question 1d : 91394329476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

foefra ad & s i el WIQ % U TR W S AT 2
Options:

freqres T w9 H
913943115649,

-3 T9ie &% 9 H
913943115650,

913845115651, M H TR A

2913942115652, eI

Question Number : 114 Question Id : 91394329477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many days should the Rajya Sabha return the money bill with or without
recommendations to the Lok Sabha ?
Options:

07 days
913943115653,

14 days
913943115654,

21 days
913343115655,

28 days
9123345115656,

Question Number : 114 Question Id : 91394329477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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= w1 it fera feat @ ot um fadass =t Rawrfrt = gy o 3gek famn & @ <6t witern =nfge 2
Options:

07 |
913943115653, fedt



14 feat 4
913943115654, feett

21 fe=i &
913943115655, feett

28 feat &
913943115656, feett

Question Number : 115 Question Id ;: 91394329478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Scientific method of research does nof mean
Options:

Approaching a research problem without any preconceived answers
913845115657,

Avoiding subjectivi
913942115658, g / W

Coming up with a hypothesis
9139421156549 gup ypo

Leaping into a research problem blindly
913942115660,

Question Number : 115 Question Id : 91394329478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Figaam $it I fafy & aeed a8 78 2

Options:

913345115657, fem fef ¥ EHHHW

913345115655, A

afieheaT = T T "E
913943115659,

913943115660, ° R Tl -

Question Number : 116 Question Id : 91394329479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The research aimed to seek knowledge for the sake of knowledge is not known as

Options:



913943115661, L ure research

913943115660, Lneoretical research

Ideological research
913942115663

913943115664, Dasic research

Question Number : 116 Question Id : 91394329479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Uk Tty Fodent 3899 sad 39 o A0 319 R e &, Feefefiaa & & fem w9 & 58 9 s 2 2

Options:

913345115661,

dgifae sgHam

913345115662

9123345115663,

wifere argEa™
913943115664,

Question Number : 117 Question 1d : 91394329480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Consider the following statements depicting the characteristics of a hypothesis :
(i) It should be empirically testable.

(ii) It should be specific and precise.
(iii) It should be stated in the form of a question.

(iv) It should describe only one issue.

Choose the correct answer from the code given below :

Code :
Options:

(i), (i) and (iii)
913345115665,

(i), (ii) and (iv)
913345115666,



(ii), (iii) and (iv)
913345115667,

(1), (ii), (iii) and (iv)
Q9129421 15665,

Question Number : 117 Question 1d : 91394329480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

afterean it fasraaadt o1 feor w0t aret Prferfiaa St o famm i
(i) 38 smgwiae w9 & fag fea s =nfge

(i) 3& fafire ot gédts g =few |

(iii) F8 ¥ & w9 F 10N g =0fwe |

(iv) 30H %ae Uh & qe H 00 HeT TRy |

% :

Options:

(1), (i) 3 (iii)
913942115665,

(1), (i) 3 (iv)
913943115666,

(i), (iii) 3 (iv)
913943115667,

(i), (ii), (iil) 3 (iv)
913943115668,

Question Number : 118 Question Id : 91394329481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The research leading to create knowledge, which may be used for certain ideological ends is
known as

Options:

913943115669, L ure research

913943115670, Lneoretical research

Applied research
913942115671,

913943115670, Dasicresearch



Question Number : 118 Question Id : 91394329481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T 1 Go FH Fre 378, Famen wfowa S aret & fow 3w fomn sn o 2, 5t frm
A1 B AT AT ?

Options:

9133451156649 T

913342115670

913845115671,

913345115672,

Question Number : 119 Question 1d : 91394329482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freafafaa § & SF-m dvremar sftesl <1 TR 2 2

Options:

913345115673,

Pty gferest
913943115674

gfaen wferes

9153942115675

fofa wfeesd
913943115676

Question Number : 119 Question Id : 91394329482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is a type of probability sampling ?

Options:

Systematic samples
913345115673,

Quota samples
913345115674,

Convenience samples
913343115675,



Judgment samples
913943115676,

Question Number : 120 Question Id : 91394329483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following data collection methods ‘can vield an almost infinite variety of
meaningful information” ?

Options:
Questionnaire
913943115677,
91394311567g, |herview
913943115679, Opservation
Content Analysis
913943115680,

Question Number : 120 Question 1d : 91394329483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Preafefiga & & - st duaw oty T seftn ger A syl g=mn 2 ot &7 2

Options:
913942115677,
913942115675 |
9139421156793

ferra-=eg favermm
2123942115680,

Question Number : 121 Question Id : 91394329484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following measures of central tendency should be used when scores are
not symmetrical, such as when they are closely grouped but with a few very high or very
low scores ?

Options:

913943115651, ‘rihmetic Mean



Median

913942115682,
913943115653, Mede
913943115654, Ceometric Mean

Question Number : 121 Question Id : 91394329484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa 4 @ $=fa vafs & e Yom 1 30 oo sugm fen s =fee s g gafia 3 8, S8
foh 5@ & MRS THE | & W $9 el I= A1 AeA=d ®H GEAISl - Y w2

Options:
912943115681,

913345115682,

9123345115683,

912345115684,

Question Number : 122 Question Id : 91394329485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following components of a research report in correct sequential order :
(i)  Review of the literature examined for the study

(ii) Conclusions and/or recommendations
(iii) Discussion of methodology used for the study
(iv) Detailed list of the references

Choose the correct answer from the code given below :

Code :
Options:

(1), (11), (i), (1v)
913345115685,

(11), (i), (iv), (1)
913345115686,

(1), (iid), (ii), (iv)
2123942115687



(iw), (111, (i), (1)
913345115685,

Question Number : 122 Question Id : 91394329485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fereft srqeaT wfraga & fFrmfefian gewt it @@t % # sqafeug Hifig
(i) wrerga & forg wlifera anfeea 6t grltan

(i) Frd sftysrgan fagrfe

(i) 3reEa & forg vy wrfwomedt 6t ==t

(iv) weul $it foega =
Hre feu o g2 # © @t I w g
C T

Options:

(1), (i), (iii), (iv)
2123942115685,

(11), (i), (iv), (1)
913345115686,

(1), (ii1), (i), (iv)
913345115687,

(iw), (iai), (ii), (1)
913845115685,

Question Number : 123 Question Id : 91394329486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In States X, Y and Z; P, R and T are Panchayats and @, S and U are Urban Governments.
Which one of the following statements is correct as to Basic and Performance Grants

recommended by the 14th Finance Commission 7

Options:

‘U of State Y will get 90% as Basic Grant
9123942115689

‘P of State ‘X’ will get 15% as Performance Grant
9139421156930,

‘S’ of State ‘Y will get 80% as Basic Grant
912942115691,

‘R’ of State X’ will get 20% as Performance Grant
915943115692,

Question Number : 123 Question Id : 91394329486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

X, Y3 Z =gl % P, R 3R T 99d & 3 Q, S vd U weft were= & | Fefefiga 8 & <991 +9=
144 faw s gro < et fawifon & sgan qeg ot Fe-feareT sgm s se A ad@t B 0
Options:

ST Y &1 U qeqd 3H5H % §9 § 90% WTH
913943115689,

U9 X’ 1 P rd-Freares 3ee % ®9 d 16% YW Hem
913943115630

ST Y’ &1 °S’ ged IEH & 9 ¥ 80% TH HM
913943115691,

59 X H R Fl-FreareT 3gm & &9 3 20% WH Fom
913943115692

Question Number : 124 Question Id : 91394329487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is nef an aim of National Rurban Mission is India ?

Options:

Local economic development
212942115683,

Rural infrastructure development
913942115694

Creation of well planned Rurban clusters
9139421156935,

Protection of heritage sites
9123942115696,

Question Number : 124 Question Id : 91394329487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g ® et st fvm w1 e Pefefen d s adf 2 2
Options:

9133451156593,

yreftor s HeEAT fawm
913943115694,

gfaifor st augt 6t e

913345115635,



ferrara woratt <t geam
9139431156396

Question Number : 125 Question 1d : 91394329488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The principle based on triple zero; zero fossil fuel energy, zero waste and zero emisgion is
called

Options:
Intelligent urbanism
913943115697
9139431 156gg, Creen urbanism
913943115609, Daance urbanism
Develo urbanism
913943115700, ped

Question Number : 125 Question Id : 91394329488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i s Sftarm dum s, I arafiee oft s seeel e Rigra Feema @

Options:
913943115697, AR
9139451156598, i g
Haferd MetaTe
9139431156599
fererftra wetETE
9139432115700

Question Number : 126 Question Id : 91394329489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following cities in India ranked first as Liveable city by the Ease of Living
Index Report, 2018 7
Options:

913943115701, L URe

Tirupati
913943115702,



Chandigarh
9123942115703 dig

913943115704, 1ndore

Question Number : 126 Question Id : 91394329489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

& st fafan 2ag (w7 9 gus) wfregq, 2018 % san Prefafas & @ wia & feg mee =t
e ar wrat <t vy affgar wowEn T g 7

Options:

il

2123942115701,

91334311570z,

913345115703,

g

913345115704,

Question Number : 127 Question Id : 91394329490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is not true about the powers of Gram Sabha/Panchayats under
the PESA Act, 1996 ?

Options:

ight to mandatory consultation in land acquisition
9123942115705, Rig v .

Regulation of sale and consumption of intoxicants
Q139432115706 P

Management of village markets
A123942115707. a8 a8

Control over money lending to STs/SCs and OBCs
913943115708,

Question Number : 127 Question Id : 91394329490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafefiaa 4 & s v sgfa gt o damat # e sfafem, 1996 % safa om
w6t wfwat % e H wdt 7@ 2 2

Options:



ftr siftrren 7 sifyard vt @ siftren
913943115705,

aree geat i fahr aft Fovi gadt fafemm
913942115706,

reftor START S g
913943115707,

AT/, T AT, F e o P
913943115708,

Question Number : 128 Question Id : 91394329491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following institutions is responsible for social audit for MNREGS ?

Options:

Village Panchayat
913845115709,

913943115710, COram Sabha

913943115711 ~la Parishad

Panchayat Samiti
913343115712

Question Number : 128 Question 1d : 91394329491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frafafiga § @ -t gean gom % amfas siham % foe et & 2
Options:
913942115709, amH

913342115710, T

forerr aftag

9123345115711,

913845115712,

Question Number : 129 Question Id : 91394329492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following Committees were merged in Nagar Panchayats under the

th
74 Constitutional Amendment Act ?
(i) Town Area Committee

(ii) Notified Area Committee
(ili) Cantonment Area Committee
(iv) Municipal Council

Choose the correct answer from the code given below :
Code:

Options:

(i), (ii), (iil) and (iv)
913345115713,

(i), (ii) and (iii)
9123345115714,

(ii), (iii) and (iv)
2913942115715,

(i) and (ii)
912345115716,

Question Number : 129 Question Id : 91394329492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

744 dfeum gotes wAfufEm % s=afa Frafafiaa § @ f afufodi s 3 demat § faom = fon
T o1 ?

(i) e & gfufa

(i) el & afufa
(iii) @t &= wffa

(iv) T qfteg

3 fim e e 3 A I A 9P
% :
Options:

(i), (ii), (i) 3 (iv)
913943115713

(1), (i) 3 (iii)
913943115714

(id), (iii) 3 (iv)
913943115715

(i) #H (i)
913943115716



Question Number : 130 Question Id : 91394329493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

On which of the following subjects did the working group appointed by the Planning
Commission under the Chairmanship of Prof. C.H. Hanumantha Rao submit its report in
1984 ?

Options:

Functioning of Zila Parishad
913943115717,

District Development Board
913942115718

District Planning
2129421157149,

Sectoral Planning
913942115720,

Question Number : 130 Question Id : 91394329493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafeofiaa 4 & fra fawa wt, ot wm. g9 va 6t sreraran & gt s gro nfda weferd o
¥ a9 1984 # a7 wfererg wega forerm 2

Options:

farem afoag =1 s
913943115717,

212942115718 "

913343115714

913343115720,

Question Number : 131 Question Id : 91394329494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the 74™® Constitutional Amendment Act, the minimum age to be the Mayor of
a Municipal Corporation is

Options:

8 years
9132453115721,

1 years
913943115722,



25 years
913943115723,

0 years
913343115724

Question Number : 131 Question 1d : 91394329494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

743 "y guirem sifrfrm % Taa, TR w5 e w ¥y e ey dim o 2
Options:

913345115721, 15

913345115722 21

913345115723,

2123942115724,

Question Number : 132 Question Id : 91394329495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which part of the Constitution provides that every Panchayat shall continue for five years
from the date appointed for its first meeting and, no longer ?

Options:

913943115725, ride243 A

913943115706, rtcle 243 B

913943115707, Artice243C

91394311570y, rucle243 B

Question Number : 132 Question Id : 91394329495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wfaa™ <1 S-91 W7 98 3999 FaT & 6 veis =Ed A9 vy 9 i e fofy @ giw ad 9
St @ ofit gEes st T 7

Options:

Fg=0g 243 T

2123942115725,



Fgeog 243

913345115726,

Fgeag 243 ©

2913942115727,

=g 243 %

9123345115725,

Question Number : 133 Question Id : 91394329496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The development of public policy begins with
Options:

Policy demands
9133431157249

913943115730, Lssue formation

Agenda formation
913942115731,

Identification of target grou
Q13943115732 get groups

Question Number : 133 Question Id : 91394329496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e e =t fashra foredt oy gra1 8 2

Options:

2123942115729 A A &

el o fafmfor &
913943115730,

wovgHEE % fafmin @

2913342115731

wférd g
913943115732, i

Question Number : 134 Question Id : 91394329497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an empirical dimension of policy evaluation ?

Options:



913943115733, Observance of beliefs

513943115734 Practice of values

Understanding the facts
913942115735,

Asgigning due weightage to attitudes
Q13942115736 g ightag

Question Number : 134 Question Id : 91394329497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa 4 @ sa-m it geaie =1 wh sl smam 2 2
Options:

fergarai it srgare
913943115733

qedl 1 ST
913943115734

det it gHE
913943115735

et 5t 3 e

9133421157356

Question Number : 135 Question Id : 91394329498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Select the characteristics of good policy making process by using the code given below :
(i) Forward looking and outward looking

(ii) Innovative and flexible
(iii) Evidence based and lessons experienced

(iv) Systematic evaluation and constant review

Code :
Options:

(i), (ii), (iii) and (iv)
913845115737,

(i), (ii) and (iii)
913343115735,

(i), (ii) and (iv)
9123451157349



(i) and (ii)
912345115740

Question Number : 135 Question 1d : 91394329498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr= fau o g2 1 IwE wd g =t Aifa Fmfo s f fawwaret @ wwm Aifa
(i) wrfersfier gfeeertor aft amer gfeeshior

(ii) TErY i FEETH

(iii) HTER FaTiE 3 s 918

(iv) =Hafeed qeaie A Gad gAten

E :

Options:

(i), (ii), (i) 31 (iv)
913943115737,

(1), (i) 3 (iii)
913943115738,

(1), (i) 3 (iv)
913943115739,

(i) 3 (i)
913943115740,

Question Number : 136 Question 1d : 91394329499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to Y. Dror, which of the following is not correct regarding the Capacity to

Govern ?
Options:
He distinguished it into ‘ordinary tasks of governance’ and ‘higher order tasks’.
913942115741,
The higher order tasks are receiving attention in the New Public Management.
913942115742,
The failure of ordinary tasks of governance seriously undermines the very fabric of
governance.
913942115743
The redesign of governance system depends on the specific situation of each country.
2912942115744 =8 & = pe by

Question Number : 136 Question Id : 91394329499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ars. g % oun, Fefafer dd sy s R amm S e d adt 7@ & 2
Options:

4 ‘gree & wmare sl @i T= wie wEl °§ fae s g )
913943115741

913943115742, 74 i e 3§ I Tl il A e fer s g |

ITEA o HTURY w1 i fawetdr & w8 s TH1-961 %1 Hged S w7 8 A6 e |
9139432115743

e ettt gAEEET s dn 6t fafirse ferfa o fefo st 210
913943115744

Question Number : 137 Question Id : 91394329500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is nof one of the three main stages of a project ?
Options:

Project formulation
912942115745,

Project installation
913943115746,

Project operation
913343115747,

Project networking
2123942115748,

Question Number : 137 Question Id : 91394329500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafeafias 4 @ svm v et s s fa qgea s d 8 7@ 2 2
Options:

913345115745, *

913345115746, #

2123942115747 *

2913942115748,



Question Number : 138 Question Id : 91394329501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the two lists given below, List I provides the list of Institutions, while List IT indicates
Year of Establishment . Match the two lists and choose the correct answer from the code
given below :

List I List IT

(Institution) (Year of Establishment)
(a) General Agreement on Tariffs and Trade (i) 1944
(b) Asian Development Bank (ii) 1945

() International Bank for Reconstruction  (iii) 1947
and Development

(d) International Monetary Fund (iv) 1966
Code:

Options:

(a)—(i), (b)—(ii), (e)(iii), (d)—{iv)
913943115749,

(a)—(ii), (b)—(iii), (e)—(iv), (d)—(i)
913342115750

(a)—(iii), (b)—(iv), (e)—~(1), (d)—(ii)
912342115751,

(a)—(iii), (b)—(iv), (e)-(ii), (d)—i)
913943115752,

Question Number : 138 Question Id ;: 91394329501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr= <t et § w3 8 | =t 14 deard, g9 = 10 F wereen ad § 1 9 1 gt 5 gafaa fifve
i = fau Mo g w1 v Fd g wE Ie w9

e 1 gt I
(wiee) (verma =)

(a) HiaTgee it samR Gavt @ aaetar () 1944

(b) wfiraré fawm S5 (i) 1945

(¢) Fauredra gafiafor 3k fasra o (iii) 1947

(d) sF=aiedta qgr Hiy (iv) 1966

% :

Options:

(a)~(1), (b)—(ii), (e)—(iid), (d)—(iv)
912342115749

(a)—(ii), (b)iii), (e)(iv), (d)—i)
913943115750,



(a)—(iii), (b)—(iv), (e)~(1), (d)—(ii)
912342115751,

(a)—(iii), (b)—(iv), (e)-(ii), (d)—i)
913943115752,

Question Number : 139 Question 1d : 91394329502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Consider the following agencies which can be entrusted with the job of development project
installation by the government :

(i) A new organization without establishing a special unit to handle it
(ii) A new special unit within an existing organization
(iii) An existing organization

{iv) A contractor

Choose the correct answer from the code given below :

Code :

Options:

(1), (ii) and (iii)
Q123942115752

(1), (ii) and (iv)
Q915942115754

(i), (iii) and (iv)
Q912942115755

(1), (ii), (iii) and (iv)
Q123942115756

Question Number : 139 Question Id : 91394329502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=fafiaa sifimmon w faar $ifsn, fa s gro faem ofaemet & e 6 g d1dh
Hﬁr‘cﬁ%:

(i) 35 GaTed & fog fagy s i wame & fomn 90 dmea

(ii) HISET "veq % arta U fao gerd

(iii) r§ HisET @M=

(iv) dehER

Hre fou o e # | @t I w g
C T

Options:

(1), (ii) #H (iii)
913943115753,



(i), (i) #H (iv)
913943115754

(id), (iii) 3 (iv)
913943115755

(i), (ii), (i) 3 (iv)
913943115756

Question Number : 140 Question Id : 91394329503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the following statements/facts regarding the origin of the discipline of
Development Administration :

(i)  The term ‘Development Administration’ was first coined by U.L. Goswami in 1955.

(ii) The Committee on Comparative Politics of Social Science Research Council, USA has
accorded intellectual foundation to it.

(iii) Itis a by-product of the comparative study of Public Administration.

(iv) It has a distinctive identity in relation to developed nations.
Choose the correct answer from the code given below :

Code:

Options:

(1), (ii) and (iii)
913943115757,

(i), (iii) and (iv)
913943115758

(1), (iii) and (iv)
Q129421157549

(1), (ii), (iii) and (iv)
913943115760,

Question Number : 140 Question Id : 91394329503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fererra weme % foawa & S & Haw d Freafafas suataet w feem fifo
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Options:



(1), (i) 3 (iii)
913943115757

(id), (iii) 3 (iv)
913943115758

(1), (iii) 3 (iv)
913943115759

(i), (ii), (iil) 31 (iv)
913943115760

Question Number : 141 Question Id : 91394329504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is a behavioural characteristic of Weberian model of bureaueracy ?

Options:

Rationality
9132453115761,

System of rules
913943115762,

Rule specifici
913943115763, W

Hierarchy
913343115764

Question Number : 141 Question Id : 91394329504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafafiga 4 @ St Seard & st g H syagrard fagwar 2 2

Options:

wtfgehar

913345115761,

913345115762, #

913845115763,

9123345115764,

Question Number : 142 Question Id : 91394329505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asgsertion (A) : Administrative culture is generally influenced by the society’s value
structure.

Reason (R) : Civil servants in developing countries can develop their own value systems,
which are somewhat different from that of the parent society.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942115765,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q9129421 157EE,

(A) is true, but (R) is false.
913845115767,

(A) is falze, but (R) is true.
91394211576,

Question Number : 142 Question Id : 91394329505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(A) 3 (R) 79T (R), (A) i 9t =amea & |
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(A) 3flt (R) ST @t &, T (R), (A) i Tt s 76 8 |
913943115766,

(A) @&t 8, 9%g (R) Terd & |
913943115767,

(A) TeTd 8, W (R) T8t 2 |
913943115768,

Question Number : 143 Question Id : 91394329506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is not a characteristic of Citizen Charter in UK ?

Options:



The concept of Citizen Charter had evolved in Britain as a part of neo-liberal ethics.
913943115769

It was based on Ibbs Report.
913942115770,

413943115771 It contains demands of workers.

It aimed at better management of service delive ups.
A123942115772. a8 1y Broups

Question Number : 143 Question 1d : 91394329506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 144 Question Id : 91394329507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Consider the following statements about US Senate :
(i) It advises and gives consent to some of the appointments made by the President.

(ii) The composition and powers of the Senate are mentioned in Article 1 of the
US Constitution.

(iii) It tries all impeachments.
(iv) The Presiding Officer of Senate is the Vice President of US.

Choose the correct answer from the code given below :

Code :
Options:

(1) and (ii)
Q13942115772

(i), (ii) and (iii)
913343115774,



(ii), (iii) and (iv)
913343115775

(1), (ii), (iil) and (iv)
913345115776,

Question Number : 144 Question 1d : 91394329507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

7,78, #ie % ot # Prafafaa Foet w fomm Hifo
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% :

Options:

(i) 3 (i)
913943115773

(i), (ii) #H (iii)
913943115774

(id), (iii) 3 (iv)
913943115775,

(i), (ii), (i) 3 (iv)
Q13942115776

Question Number : 145 Question Id : 91394329508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In employer-employee relationship, the Whitleyism in UK stands for
(i)  Utilizing the ideas and experience of the staff

(ii) Employees decisive share in management
(iii) Determination of general principles for governing conditions of service

(iv) Improvement of office machinery and organisation

Choose the correct answer from the code given below :

Code:
Options:

(i) and (ii)
913343115777,



(i) and (iii)
913345115775,

(ii) and (iii)
913845115774,

(i), (iii) and (iv)
913343115780

Question Number : 145 Question Id : 91394329508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

(i) #H (i)
913943115777

(i) 31 (iid)
913943115778

(i) 3 (iii)
913943115779

(1), (iii) 3 (iv)
A1=394=2115780,

Question Number : 146 Question Id : 91394329509 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the two lists given below, List I provides the list of Concepts, while List I indicates
Explanations. Match the two lists and choose the correct answer from the code given below :

List I List I1

(Concept) (Explanation)
(a) Differentiation (i) The ability to choose among alternates
(b) Discretion (ii) Existence of specialized structure to perform every function
(e) Diffraction (iii) Increasing ability to make and carry out collective decisions
(d) Development  (iv) Degree of differentiation and integration in a social system
Code:

Options:

tYes



(a)—(1), (b)—(ii), (e)—(iid), (d)—(iv)
912342115781,

(a)—(ii), (b)), (e)-(iv), (d)—(iii)
913945115782

(a)—(iii), (b)—(1), (e)(ii), (d)—(iv)
913943115782

(a)—(ii), (b)—iii), (e)—(iv), (d)—(i)
913342115784

Question Number : 146 Question Id : 91394329509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= gt gfeat s § 1 gt 1F sraumomd, qun gt 11 ° sarend § | 59 g gt w5 gafea Sife
i = fau U Fe o w9 g wE I 9
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(d) ferpra (iv) Grarfrer saacen & fafimdteor vd v i g

Fe:
Options:

(a)—(i), (b)—(ii), (e)(iii), (d)—{iv)
913943115781,

(a)—(ii), (b)—(i), (e)~(iv), (d)—(iii)
913342115782

(a)—{iii), (b)—(1), (e)—(iD), (d)—{iv)
913943115783,

(a)—(ii), (b)), (e)(iv), (d)-i)
915942115754

Question Number : 147 Question Id : 91394329510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Universalism’ is the characteristic of which one of the following ?
Options:
Prismatic society

913345115785,

Fused society
2123942115786,



Diffracted society
913943115787,

Ortho-prismatic society
913942115788,

Question Number : 147 Question 1d : 91394329510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

913345115785,

s TS
2913942115786,

913343115787,

913943115788,

Question Number : 148 Question Id : 91394329511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

On the recommendation of which of the following committees, was the Parliamentary
Commissioner for Administration created in UK ?

Options:
9139431157gg, Masterman Committee
913943115790, Ciadstone Committee

Sir John Wyatt Committee
913943115791,
913943115790 ord Nolan Committee

Question Number : 148 Question Id : 91394329511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa o & fem ofafe 6t el w g%, 9 wmee & fau godt smge 1 mea fen mn 2
Options:

2123942115789



2913942115730,

a9 sgre wfufa
913943115791,

2913942115732, e

Question Number : 149 Question Id : 91394329512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following defined development administration as a process of “carrying
planned change in the economy or capital infrastructure and to a lesser extent in the social
services especially health and education” ?

Options:

913943115793, Ldward Weidner

913943115794, - Khosla

John Montgome
Q13943115795 '8 v

913943115796, Merle Fainsod

Question Number : 149 Question 1d : 91394329512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

Ugas age

913345115733,

3.7, G@rgen
913943115794,

913345115755, R

913345115756, s

Question Number : 150 Question 1d : 91394329513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the two lists given below, List I provides the list of Subjects, while List II indicates
Commission/Committee. Match the two lists and choose the correct answer from the code
given below :

List I List IT

(Subject) (Commission/Committee)
(a) Report on Police Training Reforms (i) Dharma Vira Commission
(b) National Police Commizsion (ii) Gore Committee
(¢) To provide Human Face to Police  (iii) Soli Sorabjee Committee
(d) Police Act Drafting Committee (iv) J.F. Ribeiro Committee

Code :
Options:

(a)~(1), (b)—(ii), (e)—(iid), (d)—(iv)
912342115797,

(a)—(ii), (b)), (e)-(iv), (d)—(iii)
9139431157358

(a)—(1), (b)—(iii), (e)—(iv), (d)—(ii)
9133421157939

(a)—(iii), (b)(iv), (e)-(ii), (d)—(i)
913943115800,

Question Number : 150 Question Id : 91394329513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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&
Options:

(a)(1), (b)—(ii), (e){iii), (d)—(iv)
915942115797,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
9133242115795

(a)—(1), (b)—(iid), (e)—(iv), (d)—(ii)
9139431157949,



(a)—(iii), (b)~(iv), (e)-(ii), (d)—i)
913342115800



